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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: /Wmﬁﬁaﬁﬁaﬁﬁﬁm?ﬁvwmm%:
1. Discussion method / faaR-famref fafy

2. Question- Answer method / U9ITR fafd

3. Lecture demonstration method/ SIREAT Y& fafdr

4. Inquiry method / I&di® fafer

Correct Answer :-

« Question- Answer method / TR fafer

2) Law of Exercise stresses the importance of in learning. / 3¥ITH BT g sftrra & ® Hed IR dd1 a?IT %I

1. Reward / QR¥HRR
2. Readiness / dcdxdl
3. Practice / J¥H

4, Impact / UHTd

Correct Answer :-

o Practice / Y™

3) According to Piaget, children experiment with sounds during the . / s & SR, T %?ﬁ?ﬁ i~ & qTY TR B % |
1. Preoperational stage / Jd-Sfoharedes (SaIR=e) Siawl

2. Concrete operational stage / Tzl GfehaTEd (@epie STIRRIE) G

3. Formal operational stage / 3¢ SfshaTeie (IH SRR Sfawl

4. Sensorimotor stage / §ad} IS SfawyT

Correct Answer :-

« Sensorimotor stage / Hag! IR TR

4) Why is the learning environment important for active learning? / afera AR & g arftrrr 1 ufeawr &Y w %?
1. To build knowledge through collaboration. / U & H1egH § IH &) [ApRig A & e

2. There are no assessments. / ﬁs‘ STh A :lélfl

3. There is no need to engage with the content. / ITER O gfere E?ﬁa% AHARGDh dl qﬁ%l

4. It uses multiple resources. / I8 ﬁ ITel BT TN Bl % |

Correct Answer :-

o To build knowledge through collaboration. / U & H1egH § JH &) [ApRid A & e

5) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / Qﬁwaﬁ AT feTa Y S AT e fafary
U d fpiREer A gd 82

1. Identity vs. identity confusion / U89 &9 UgdM Yifd
2. Generativity vs. stagnation / ST T S-H FRRAT

3. Trust vs. mistrust / [OYT S99 Sifaym

4, Intimacy vs. isolation / S-S §TH faewrar



Correct Answer :-

« Identity vs. identity confusion / 989 &= g Hifd

6) Which of the following is least likely to be a sign of depression in adolescence? / FrRRTaT & g F | fh SraTe o1 Wohd 814 &1 WUTa-T 82
1. Sudden drop in marks / it B 3 fRTae

2. Missing classes / H&TH R IR B

3. Withdrawing from friends / Gl & Bl

4. Changing friend groups / i QTE@ Bl FG

Correct Answer :-

« Changing friend groups / T THg! &I Sgar

7) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / YT & SIER Eﬁﬁaﬁm‘m YT TR rgH BT
HEY 3T qUi HeaT 82

1. It means that drill or practice helps in increasing efficiency and durability of learning. / DT 3ref & 13 Tifreror a1 3ramy SHFRATH BT qerar 3R AT &Y EARR: R -1
FRAR

2. It means that preparation or disposition of the subject contributes to learning. / SHHT 3rf & 3 fawa ) dardt an TauTg e & aveH A 8|

3. It means that the organism changes its response till an appropriate behavior is hit upon. / SHDT sfTE R frus JUYdd HdGR % UBR g ad g 3ot wfafesar
FEAA A 3|

4. It means that trial and error leads to connections being formed. / THDT G{?f% & Targ iR 'g’% & HRU IGY I %I

Correct Answer :-

« It means that preparation or disposition of the subject contributes to learning. / TH®T 3 B 3 fower Y ot o sqna Sifteme & e ST 81

8) The ability to think rationally and act purposefully is . | THIWTE T F T 3R G%W‘{Uf TP A B B BT e H
1. Reasoning / GE2

2. Perception / \?ﬂ"-lﬁf

3. Intelligence / Tg'@

4. Creativity / TdTHD T

Correct Answer :-
« Intelligence / I

9) The term Bandura used for explaining, overall process of social learning is ./ EgRT A e &Y Ty A uftsar & wusm & e fora ug &1
W ey |

1. Self-efficacy / STE-UHTGHTRGAT

2. Conditioning / 3]

3. Vicarious reinforcement / T Tgd Ueai
4. Modelling / UfeReoT (TTSfefT)

Correct Answer :-

e Modelling / yfaeTo (HTST?‘FT)

10) are considered to be the most important factor in students’ achievement and successful implementation of

inclus%le classroom. / 3! faemf &t Suafs ik Tuaht wen & Twa srafaa" § 999 Ayl RS A=
ST gl

1. Teachers / R1e/®

2. Principal /H?ﬂ:ﬂ?ﬁff
3. Supervisor/q'd%&‘lﬂi
4. Counselor / HdlghR

Correct Answer :-



« Teachers / 18/

11) Which of the following theorists believed in the role of biological maturation in the development and learning process? / frafafaa &

P A Risiaer faerare ok siftnma 3t itear & Sfaw ufRusar 1 yftie w© faya w32
1. Kohler / X

2. Skinner /PR

3. Vygotsky / ATSTITT

4. Piaget / OISl

Correct Answer :-

« Piaget/ oS

12) Reasoning is studied under ./ & 3fdifa difbedr 1 sreaa= fopar Srar %I
1. Social development / oS fawr

2. Cognitive development / GTHIH® ECIR

3. Physical development / RIRIR® fadbr

4. Personality development / i fae™

Correct Answer :-

« Cognitive development / ST fadHr
13) Child development refers to the ’ and changes that occur in human beings between birth and the
end of adolescence. / ST fawTa & areqd , iR Rad= ¥ 8 Y 79 & 0 3R frxiRawn ¥ o & g

HCE

1. Biological, Psychological, Emotional/ aﬁ?ﬁ, 'q:haiﬂﬁ?, HIGATHD

2. Qualitative, Empirical, Quantitative/ J[UITH®, SfTHASY, HIATHD
3. Childhood, Adulthood, Adolescent/ SIUA, GYIh I, HIR
4. Infancy, Early, Late / §9U0, \_ﬂ?(ﬁ, RY

Correct Answer :-

« Biological, Psychological, Emotional/ m, ﬁaﬁm, HITATHD

14) India signed the United Nations Convention on the Rights of Persons with Disabilities (UNCRPD) in which of the following year? /
YR A RywaiT afdml & feRY g §Y P THa (UNCRPD) W = & & fr af &) gwaner fre?

1. 2006

2.2007

3.2008

4, 2005

Correct Answer :-

« 2007

15) Gifted children are good at / UfaHTITel = fF el o JgaR gid &2
1. All of the above /qua\_‘[ it

2. Ability to quarrel with others only / I AT F 1Y EXE A D AT |

3. Ability to solve problems only / I THT3T B A B B! Al &

4. Ability to help teacher only / Had fR1&fd & TgRIT A BT Agar o

Correct Answer :-

 Ability to solve problems only / &I THWI3M B g HIA DI ARGaT §



16) Abraham Maslow propounded which of the following theories of motivation? / 3dTgH ARG A IR % fafefaq ﬁl&'ﬁﬁ ¥ A forae!
wfoufea fomam

1. Humanistic Theory/ AHqaTgIRIGd
2. Incentive Theory/ Wﬁl@ﬂﬁ

3. Drive Theory/wm

4, Expectancy Theory/ e Rygia

Correct Answer :-

« Humanistic Theory/ H TgdTGIRIGId

17) What are some ways to help children develop problem-solving skills? / T § T YA & S fAHRia w9 o
UeE B & $ aP |82

1. Be a helicopter parent — do not give children space to make mistakes. / U BABITR HTTS & - T B AT DR BT AR T
3l

2. Avoid giving children the chance to make tough choices. / =i &1 Sifed fdde gATd &1 AT 37 | T
3. Make problem-solving a fun part of the culture of your home. / JHIT-HHIYUTT P 3 R P W P UH HolgR fewa a1
4. Children must be protected from experiencing failure. /Elﬁﬁﬁ ST BT ITHAT B I T %Q |

Correct Answer :-
« Make problem-solving a fun part of the culture of your home. / GHXT-HHIYTT P 30 R P W P UH HolgR e a9

18) In Freud’s view, development is a process. [/ PIOS ¥ faR ¥, fawra te ufshar 81
1. Continuous / FIRTR

2. Random / UTEfS5

3. Active / IfshT

4. Discontinuous / 3fRR

Correct Answer :-

« Discontinuous / 3fFReR

19) What type of forgetting occurs when information in our memory stops us from recalling other information that is also stored in memory?

/ o9 gAY Wfa & SR g0 Wi & TUEd 3 TSR] B I1g $1 A APl 8, o f5d yoR i 3 gt 82
1. Decay / Udd

2. Delay / fada

3. Cue-dependent forgetting / Havd-SuURd 4a

4, Interference / 3ARIY

Correct Answer :-

« Interference / 3ARIY

20) What type of a learner is one who learns best by watching movies or documentaries? /

e Riemdt <Y fpet a1 gafs @) Tue? e 33T Wiaar § 98 59 yer o1 Riendf g2
1. Aural / HUTGTE=fY

2. Kinesthetic / TS

3. Reading/writing / U3+ / TG

4. Visual / €9

Correct Answer :-

e Visual / €Y



What type of language theory focuses on the inborn capacity of infants to learn language? / HTHT IJraa & for ﬁT{[Gﬁ & ST ST IR

e woR &1 T Riia Hfa @2
1. Behaviourist theory / 18R fagid

2. Nurture theory / aor Rt

3. Instinctual theory / dgSl ISFAGH

4. Nativist theory / Hg ol JT-d &l R

Correct Answer :-

« Nativist theory / WW %l@'a

22) A detailed information about the individual’s ancestry is collected when the following method is used to measure personality. / STd

faded Y AT & fore A faftr o1 IuaiT farar wivar @ < cufe 3t dximacht & TR # U fawgd SHa R e 8 St 81
1. Interview / HIETP R

2. Case History / ¥ fgect

3. Projective tests/ H& TH&fur

4. Questionnaires/ THTAGT

Correct Answer :-

- Case History / G| %ch

23) If the teacher has to know about the students’ strengths and weaknesses before the instructional materials are organized, the teacher
should conduct: /

e Rrare ) FAderare Tl &) gafRd $31 € Ug o) &1 Afeadl iR WG & IR & §=A1 ¢, df Risre &1 fog o1
JETa ST A1eE:

1. Summative Assessment / TR W
2. Diagnostic Assessment / EEIEED H\FCIW
3. Interim Assessment / 3fARH qAip

4. Formative Assessment / T Hedich+1
Correct Answer :-

o Diagnostic Assessment / Farfe H\FCIW

24) The creativity of the child can be most appropriately brought forth by giving in the class. / P&TH TP T B
IIETHGAT B IFAT =Y A ATHA AT 1 qhell 71

1. Homework / ]IET_GFT{f

2. Notes / fewforgt

3. Impositions / 3R
4. Assignments / %’Iﬂﬂi‘ﬂ'ﬁ

Correct Answer :-

« Assignments / E‘Hﬂ?ﬁﬂ?

25) Visual problems get solved more comfortably than verbal problems, during which stage of cognitive development? / €I WT\Q" nfae

el Ft ga- & SHRIE R A, TS AP & fHT U1 & SR 81 5 81 il 82
1. Concrete operational /EETH@WTW (HPIT SHTRR)

2. Preoperational /ti?f»(-iia?qw-leh (';ﬁ&TH%QHﬂ)

3. Formal operational / mjdﬁoqmm (lb‘lll-fﬂ &Tue&amm)

4. Sensorimotor / Al IR (@W’Jﬂa)

Correct Answer :-

o Concrete operational / E?fﬂfa;qm (Eb_cbsf'c' &m



26) What dilemma did Kohlberg present to children in his study on moral development? / Hlgaadt = U= Afas fae™ & srergs § a=i
P AT AT IR BI?

1. Hector’s dilemma / %W?f’ef gﬁ%ﬂ
2. Heinz’ dilemma / 8 &1 @'ﬁ‘iﬂ

3. Mary’s dilemma =ikl gfasﬂ

4. Henry’s dilemma / %:lﬁ 3l g‘ﬁ?ﬂ

Correct Answer :-

« Heinz’ dilemma / B &1 zgi%%n

27) Which of the following is least effective in educational implication of attention? / fafrfaddsnam & ‘aﬁ@ ﬁ'%?ﬂ?fﬁ frgaw
Tt 82

1. Theory talk / RIgid amaf

2. Audio — visual aids / T 4o 3UTGI

3. Gestures and movements / HTd-HfTTAT SR Tfafafdy
4. Incorporation of variety / fafaear gamazH

Correct Answer :-

e Theory talk / R FAGKIG ]

28) Aptitude tests are indispensable tools at the hands of to provide educational and vocational guidance

services. / ke iR SATEAIRIP ARTER FaTY YT B H 14T TG TG0 7 3ifyard Suaor 21
1. Teachers /@T&‘Iﬁ

2. Friends/ T8l

3. Doctors / fafeast

4. Counsellors / HATGDHRI

Correct Answer :-

« Counsellors / m

29) CANCELLED

According to Carol Dweck’s Mindset theory, an incremental view of ability means WA 210G S:a?ﬁ F qFfyear & Rigia & SR, &HdT * Uh
I8 TXY BT AAAS gl

1. a stable and uncontrollable trait. / U Rr GﬁT A faRiwd

2. a characteristic of an individual that cannot be changed. / Tch fad & fagwar oy dadl :%T\_)ﬂ Hohdl %I

3. a set of intellectual capabilities a person possesses. / P emrarstt w1 Th gH=d S T e & T BT B |
4. an ever expanding repertoire of skills and knowledge. / EARINEEIN M PTTD ﬁﬂ?‘[ EESIIRY]

Correct Answer :-

« an ever expanding repertoire of skills and knowledge. / PITA 3R FH BT Th ﬁﬂﬁ R

30) Assessment results of a very strict yet effective teacher’s class are below average. The factor that is impacting
learners in this class is the -/ T& 9gd & F8® Afe- quTdl R1ere ot & mpas & ufkomy o & 4 81 98 RIS g9
we & Rignfial & yutfaa s w1 §, P @

1. complexity of the topic / fawg ot Sfeaar

2. boredom of learners / RI&RITY o ifvaa

3. relationship between the teacher and learners / Rrer 3R Rrenfiat & st dey

4. relationship between new content and old content is not clear / T&F Tt GﬁT Q?'I:ﬁ It & o dY gy :@T%

Correct Answer :-

« relationship between the teacher and learners / QT&F:F GhT m&m & S oY



Topic:- General Hindi (L1GH)

1) fUISd TU-UsE auf & gAY WAUH Bt TEpiA & Ue 93T IGa1d 39T 81 SS-SRIT-TST-0IHR-I0Y 3 $ad 01 YR a Wiid 981 81 3 S YRa & M\ &
XEY H IUAY § SR 3T Al ITR WRA B FTEAT VRpTa THT QR 3 & el I 71 99 37 Hal W g, SUR WRA A)-Sa-a17 Syt e & i) we g
(Ta HioH) &1 9o ff 92 e A G 98T 71 39 TR B’ § o, Teed oRil w8 d19 AE §1 T 9HH | $© § @ a e gy e 3 waa:
et & forg srermet Y | g e e ¥ e 95 U A 7 P J-HH T2-g¢ T a8 g &1 330 IRe THSH F B R R it 9@ ud Hieg
&Y, Afp ooy & o RgTid w7 Ioi | TR-1R # o8 T IR B

I T BT UGHR 1 AT T Uy BT IR 9413 -
USH: a1 Wpla Fel Bl a2

1. Ui URd

2. & HRd

3. gdf uRd

4, 3R HRA

Correct Answer :-

o SR HRA

mmaﬁﬁaﬁ%mﬂh%wﬂaﬂﬂﬁm
T B e,

A,
TOR-3WR Wl Pt g} o1 707 e

oA T R?

yft-preft-wiaet gt w1 T i B

TR & GRS B R0 &7

Rrorer gan T  ga1 3 e &1

IUGa UiY B Uga} e oY T Y 1 3™ Targd
URA: B FTR?

1. e & Ut b1 ST 3R Rt & g1t T hoR e Y
2. ST I DI T8l

3. H9d UMl & 81U BT HSR URem

4. Haq AT & T BTG,

Correct Answer :-

« AT & U BT g 3R Rl % BTt BT B3R Ul T

mmaﬁﬁaﬁ%mﬂh%wﬂaﬂﬂﬁm
TH B,

@ E,
FAR-GIR Wl 3 Frgh &7 o7 e

BHA FATR?

Tl weedt i o o i B

TR & R B fpuil ot

et gom Wota @ gar Y RRe= B

Irfo U= B UgeHR 1 AT T vy H1 IR Farsd

U: fPaq 814 Od B THT T &2



13BN
2. Y BIE el
3. UH Y
4. P Ty

Correct Answer :-

. DIfC-HIfE Y

mmaﬁﬁaﬁ%aﬁ%w&faﬂnﬁm
TS BT L,

A,
TIR-EWR Wl 1 g} &7 o7 e

oA T R?

yfi-prefl-waeht g ST IO i B

TR § TRl Bt fHvoil 1

Rrwrer gan Tea § a1 3 e &1

IUdad Ui B Ug@} e fAT T Y 1 3™ Fargd
W BHE SUSA 3 A ded 1 82

1. Had UM

2. Had WA ufkem

3. Had gt B IR

4, IR g+t

Correct Answer :-

. IWRIad gt

mmaﬁﬁaﬁﬁmﬁ%w&faﬁnﬂm
TS &1 e,

BEIE
FAR-FAR Wl B R} &1 o7 ol

THA T TR?

- reft-wiae figt o7 Ior enf 3

TR & GRS BT R0 7

e gon I ta § ga1 9t RRFT 1

ST U B UgHR 12 fT 1T wy -1 SR Fargd
T e P AHT I | fraeT g gar g

1. Had g1l &1

2. Had HOR URYH FI

3. Fad Afedl &1

4, IRIgd Tt &1

Correct Answer :-

. IWRIad It B



A ft-preft-weet frdt o o i B

TR & G B FbR0i) T

Rrwrer gan Tea § a1 3t e &1

I YRR B UG 1 AT T uy 1 IR qasd
UL: 1Y BT G U P A A da-ar Tdi 22
1.8

2. 4l
3. 8%
4, dX

Correct Answer :-

mmaﬁﬁaﬁﬁmﬁ%w&faﬁm
TH &1 e,

AP AL,
TIR-EWR Wal 1 g} &1 o7 e

A 182

IRApoTHET

Afeal & ur 191G 3 98

BTl & ol Y afgar @
fi-preft-waeh firgt o7 7ot enf 2

TR § TR @t 3ol &1

e gon Wota @ g1 Y RRw= B
IWYF U B UgHR 12 fT 71T uy -1 IR Farsd
URA: YRS BT qafaard! s &2

1. $ad feax

2. paa gd

3. B YU

4, IR g+t

Correct Answer :-

. IWRigd g+t

G- BRI grei 3 T e
TS B,

AP,
TOAR-3WR Wl 1 g} &1 o7 e

oA AT R?
IRAPoTE T



Al & Ui &1 oiTg 8 98
T F wf Pl

et waeh firdt o el 3

TR § TR @t f3voil &1

e gon Wota @ g1 3t RRe 3

UL Ui P UGHR A1 T TQ 44 $7 IR a8 :
TH: HPI T e g |32

1. 98y

2. 9gfaq

3. @i

4, FigeE

Correct Answer :-

G- BRI grel 35 e @t e
TH B L,

P,
TOAR-EWR Wl 1 g} &1 707 o

THA FTR?

ft-wreft. el frgh @1 o enf @

TR & GRS B o &7

et gon ¥ota @ 51 Y RRa @1t

Irfe TR $Y Ugw A T T vy 1 IR TA@sd
T B s A A AR

1. gfed

2. ST

3. ST A PIE TE

4. MY

Correct Answer :-

AFE,
E-A1E Hife-Pie grat & woef ot v

TS &1 E,
A E,
TIAR-TWR Wl Bt g} &7 o7 e

BHAFTR?

it firgh @7 7ot enf 3

TR & G B Fobvui) T

Rywrer gom Toa @ g1 &Y RRe-T 31

I U= B UgHR I AT T vy H1 IR qa1sd
T: §aT BT Aogd oG PH-AT 32

1. R

2.8

3.



4.7

Correct Answer :-

AH T,
E-A1E Bife-Hife gral & wo=f ot v

T B,
AP,
TOAR-EWR Wl 1 g} &7 o7 e

oA T R?

A ft-preft-weeht frd &1 o i B

TR § Gl Bt fvoil w1

Rt gan Ta § a1 3 e 1

IUYa Ui B Ug@} A fIT T Y 1 3™ Fargd
URA: IO BT faeiy Teq T M2

1. 3O

2.3

3. SR A B T

o P

Correct Answer :-

S F T,
G- Pife-HIfe g1t & wo=f #1 aivar:

TH B e,
FEIE
TR-EAR Qe BT gt o 7o el

BT FTR?

yfi-prefl-waeht i wToT st B

TR § G @t fvoil &1

e gon I ta § ga1 3t RS 1

SUEEH Ui P UGPR A1 T 1T U4 T IR a8 :
TH: FTY* PT TH g PH-AT 2

L8N

2.8

3.8

4. R

Correct Answer :-

T BRI Tedt & et i



T B e,
A E,
TAR-EWR Wl 3t g} &7 o7 e

oA AT E?

- preft-weelt frd o1 o i B

TR § G B fboil b1

Rrwrer gan Tea § ga1 3 e &1

IUdad Ui B! Ug@} N fIY T Y 1 3R Fargd :
T: €91 ST TUTqaT= Teg HI-A1 781 82

1.9

2. R

3. 9dqd

4. d9

Correct Answer :-

S F T,
G- Pife-HIfe g1 S wo=f #1 aivar:

TH B e,
B,
FTIR-EAR Wl BT ) o 7o el

BHA FTR?

yf-reht-ieen g o1 or ad @

TR & GRS BT Heon &t

e gon I ta § ga1 3t RRS=T 1

ST U B UgHe 12 fT 1T uy 7 SR Fa1sd
U T oes A A A g2

1. gfedm

2. Tl

3. Iy
o TR

Correct Answer :-

T e grei 3 et o e
TS B T,

[EIE
TOAR-SWR Wl Pt g} &1 707 e

oA AT R?

it reht it g o o e &
TR & GRS B o &7
Rrwrer gan Tea § ga1 3 R &1



IUE YRR B UGHR A1 AT 1T 7y T IR T8y ¢
WR: B T 32’ U8 [P TeR ST A § -

1. UHdd

2. QA dh

3. HIgdrdsh

4. AT

Correct Answer :-

o YHARH

16) fUod gu-Uss aul & AR @HUM 3t Upfd # TP TST T4 ST 3 | SSHN-SII-TST-HIHR-IAH 39 Sl GIR0T HRE 9 T 781 31 3 IW HRa & Wt sw e o
IuTY § 3R 3 A ST WRA B TET WEBIY AT QR A F bt gt 71 319 oma 1 off &Y, IR WReltg Q- gra-an smu) fira § 9| wre B (@i HieE) 31

To ff 93 WER1 A YA TE1 31 §H BRE B A TR, oo Ol $F A1 e ¥ 1 T 7HE A $© & /i aw At argeie Tee o Syad: fit & g semd i ) g

firca Ter & Ude dq U A G $9-3-50 7o T o 81 9o €1 130 TRe T & B WG ToR il a@ Wa Hivg g, AfeT aire-fre & &8 figiia wu dsht @

TR T T8 §91 SR

Ifa TR B g = AT MY 9y BT IR gargy

W e feaa auf A gar @H-uH 9 Sl gt @2

LS A DTS 6!

2. TH-Ugg IN ¥

3. QA el

4. IRUE TN Y

Correct Answer :-

. CUUSEIN o

17) o cu-Uss a6l & 0 WU 91 TPl & e 931 950Td ST 3 | SSH-SINIL-IST- MR- 3d $ad R0 HRa 7% T 718 81 3 Iw WRa & W sw e &
IudeY § 3R 3 A SR A B 1A WEpfa AT QR 31 F et Yoot §1 31 Sma HEl Y 7Y, IR YR A)-31a-AnT Smueh fire € 9| e Be? (g HIeH) BT

Ta 1t 73 R F GE eI 1 T TR B § TR, [owd Rt 78 A miha §1 v 79 H 50 € A o it argie oo ofd vaa: {5l & Rig seadt Tf R g

frea Tew & U%e d¢ T @ O $9-3-50 T=-g¢ Tht R 61 g 81 330t aRe T & o R TeR sl a@ yd Hivig g, afe s & &8 g wu dsh @

TR-IR W W8 T4 W1 7% &

IUY e TR B UG -1 3T T 0y 1 3w 9arsy :

T BT TS &1 s | 32

1. W1 YoM

2. T & AR e S ara e

3. Sff& HioH

4. U8 Y UHTHR 3T 71T HioH

Correct Answer :-

. A A R B 5 arer HieH

18) fIrod gu-uss aul & 59} @HUH 3t TPl # TP TST TG ST B | SSH-SI-TST-HIHR-THH 39 Hae SFR0T HRE 9% A 781 31 3 Iw URa & W sw e A
IudeY § 3R e A ST WRA B AT WEHI AT R 3 F et It 31 349 319 1 W g, IR YR g A1 S1a-AnT muy et € 9| e B (ged HieE) BT

o ff 93 WER1 A QA Te1 71 39 BRE B A O, Toed okl % A e ¥ 1 v wHE # $© 1 /i aw At argeie e o Tyaa: fft & g et i w1 g

forTes e & e 9g U A $9-9-97 92-9¢ I R 8 g § 1 Rt @ T & 78 Wy yorR ot aw Ha Hivg &, afe ong-frer & &€ fifia Suash @

TR-TR T W8 S IR §

Iu TR B g} 2 fAT Y Y BT IR qargy :

URA: <IoaT BT 3 1 g 82

1. Tt

2. affea
3. $fod
4, uRfId
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. & YRd
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1 9P
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4.7 e
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. AfFe
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2. 3=
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4, 3 Y
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28) fIod Tu-UsE aul § TAR) WU i UpTd & T TST I5aTd 3T 3| TSH-SIAT-TST-HIHI-IEH 3T $ad GRafvl HRd de i 781 31 I I HRd & W sx wee
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1. ot
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RE-TRE FHR- P gTeft & et ) e
TP B e,

HEIE A
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W 18?2
IRANPT TN T®
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YH-Ppreft-Haeh gt w1 o uH 3

TR & G B fbeuil &t

Rroret gon g § ga1 ot R 311

ITY T B} UgHR ) 3T T Y 7 IR garsd -
u=A: Riars & fore ur=h #19 gay warar 82

1. foret

PR

3.9

4, Afear
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ool ufscar srenfAafeses yeaey ﬂagagcdi I -

hTeh 3ETTCT PIehle] ATl o I TTdhle |
FIhATdh AT a{ HIhl oI JTdeh: |

W:W:ﬁ%:w:aﬁﬂazﬁﬁmzl

ddeddlel YT &hich: dleh: Oh: O |l

“Gleh” 3Td UGEd qAgUGH HTEd -

Topic:- Social Science (SSC)

1) FDI stands for ./ w‘-’vﬂg, Jféa =q %I
1. Financial Development Institution / Wﬁﬁm SaAUHC Eﬂaﬁﬂ
2. Financing Data Initiative / tb—l—eﬁﬁm rl| ﬁmﬁa

3. Foreign Direct Investment / BRA EEW @Eﬁ?

4. Forex Directorate Institution / THRET m W

Correct Answer :-

« Foreign Direct Investment / BRA EEW @Eﬁ’c’

2) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / fbd Taurfe "= ifufras & gaee & 3 21
T geTH 18 94 R <1 18 A2

1615t /617
2.620 ; go¥
3. 66 / 669
4. 64t / 649

Correct Answer :-
. 61t /617

3) which among the following are key faunal species that is being conserved and monitored in ‘Dachigam National Park’? / frafafaa Gk Ear

Ht wiga uyy yenfaat 8, e ‘g agia Sem # wear oiR Frtaror i o e 82
1. Golden Oriole / TTieg 3Nfegd



2. Hangul or Kashmir Stag / 7 T HIERT fgzor
3. Yellow-throated Marten / FIaRTa

4. Musk Deer/m g3

Correct Answer :-

« Hangul or Kashmir Stag / 87 a7 SHRHRT fg0r

4) Which Commission recommended that appointments of Governors should be strictly non-partisan? / g smanT A Ryerivw &1 6 Treaure
3t Frgfaaal & adt & vgrdt 761 gt a1gy?

1. Malimath / ATRIHS

2. Thakkar / dPphI
3. Sarkaria / GRIRAT

4. Punchhi / GBt

Correct Answer :-

« Sarkaria / GR&BIRAT

5) Which school of philosophy propagated Project method of teaching? / mﬁ & o faemera A Rieror # uRaieEr vgfa @1 =R fear
1. Naturalism / U iddlg

2. Pragmatism/ SJdgRdlq

3. Constructivism / XdTdTq

4. Existentialism / 31Rd@drg

Correct Answer :-

« Pragmatism/ JdgRdlq

6)  Match List-I with List-II and select the correct answer using the code given below the Lists:

List-I(Text) List-II{Author)
A Kitab-al Hind 1.Ibn Battuta
B_Rihla 2_Al-Biruni

C Humavun Nama | 3 Lahor
D .Badshah Nama [ 4. Gulbadan Begum

- 113 |rer g1 1 &7 fFere w3 3R Gt & o= fGT 710 15 7 392007 #:36 961 3eck
T

FA-IRFD) AT -IL(EEF)
A fordre e fgeg | 1. Geet agar
B. Rger 2. a-fawr
C_E'FI?‘I:HTHT 3. egHr

D. SERME AAT | 4. cTdes 9917

1. A-3,B-4,C-1,D-2
2. A-3,B-1,C-4,D-2
3. A-2,B-4,C-1,D-3
4. A-2,B-1,C-4,D-3
Correct Answer :-

« A-2,B-1,C-4,D-3

7) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the planet and ensure peace and prosperity. ‘Climate

Action plan’ of SDG is in which goal among 17 goals? / ‘Wﬁma&wmaﬁmaﬂﬁaﬁ?%aﬁv&m mﬁaﬁvmgﬁ@amﬁ%m
ardiifire Hf gie 21 TaSioh &1 Searg e AeET 17 el B | i a1 a6 82

1. Goal 17 /&I 17



2. Goal 13 /&I 13
3. Goal 11 /&I 11
4. Goal 1 /d&J 1

Correct Answer :-

» Goal 13/71&d 13

8) The Andaman and Nicobar Islands are submerged parts of the mountain range called
YT & FTATT UTT§ |

1. Arakan Yoma / 3RT&HH AT

2. Askai Chin / 3T o

3. Pegu Yoma /a"lth'FIT

4. Tien Shan / fot T

Correct Answer :-

« Arakan Yoma / 3RT&TH GrHT

9) What is not true about the art and architecture of temples of Khajuraho? / TRT8) & T &) war 3R aRgwar & fawg & w1 g g 82
1. Khajuraho temples contain erotic art inside the temple. / TORTE! HiE H TR ¥ 3iex HHS Hall sy 8

2. Temples were made of sandstone. / HfEX I TR I T4 |

3. It was built in Nagara style of architecture. / 38 aRgHaT BT ST A H ST 7147 4TI

4. The columns and architraves were built with megaliths. / Y \3h? aﬂ?ﬁm amfery J4qE Y q|

Correct Answer :-
« Khajuraho temples contain erotic art inside the temple. / TSRTE! A=Y  HiZR & 3ieR HTD Hay <y B

10) Which of the following site is famous for stupas, monasteries, temples and pillars? /FrafafEa & @ o a1 wa WU sk, i) ofk Wil & fig
RiEe?

1. Khajuraho / GRTg!
2. Ujjain / I&

3. Vidisha / fafezm

4. Sanchi /9Tt

Correct Answer :-

« Sanchi/grdt

11) The author of famous Gita Govinda, Jayadeva was court poet of: / ¥R «ifid Mfde” ¥ AW®, I 77 AR F1q
1. Lakshman Sena of Bengal / STTd & @&H01 91

2. Prithviraj Chauhan / QRIS 9ie

3. Gopala / TdTd

4. Harsha / 8§

Correct Answer :-

« Lakshman Sena of Bengal / §TTd & @&H01 94

12) Article 356 of the Constitution is related to the imposition of rule in the state. / SfIUTT BT 3@@3 356 foreft Isa &

T AR B | T a2

1. President’s / TPUfd
2. Chief Minister’s / 'ﬂ'@'ﬁﬁﬁ

3. Prime Minister’s / UTTH



4. Governor’s / ISIUT

Correct Answer :-

o President’s / Tl'gqﬁf

13) What is the percentage share of agriculture in GDP during 2013- 14? / 2013-14 * aTF-T, SHShdt # qfﬁ 1 ufard fewa @ %?
1.15.9%
2. 13.9%
3.10.9%
4.20.9%

Correct Answer :-

e 13.9%

14) RBI is considered as the lender of last resort for ___ ./ m&ﬂg Ea| . F e anfadt FHoigTdl HTHT STdl %I
1. The cooperative banks / W éa?r

2. The Regional Rural Banks / i aretor ot

3. The commercial banks / AT St

4. The Government / IXDHR

Correct Answer :-

« The commercial banks / GO Gl

15) In which language was Rajtarangini written by Kalhan? / egUl F et iAol far wrar & fereft %?
1. Prakrit / UThd
2. Devnagari / LEEIU

3. Sanskrit / ¥¥pd
4. Pali / TTSAt

Correct Answer :-

« Sanskrit / T¥Hd

16) In which year the NEP was introduced? /Q:Igﬁﬁ ERELE:| = il TI‘{ Uik
1. 1991

2.1992

3.1990

4. 1993

Correct Answer :-

e 1991

17) Who among the following did not belong to the group of ‘Moderates’ in the formative phase of the Indian National Congress? /

FrafifEd § @ 19 4R AP ST S URAIE IR F [l F aqs | daia T8 82
1. Gopal Krishna Gokhale / TITITel 80T TRaat

2. Dada Bhai Naoroji / QIGl urg RIS

3. Bal Gangadhar Tilak / STeT TR faa®

4. Surendra Nath Banerjee / W BIREEE

Correct Answer :-

« Bal Gangadhar Tilak / STl TRTIER foa®



18) Who is a person who holds an office, not because he/she is elected to that post, but by virtue of the fact that he/she holds another office
called as? / I8 B Afe § St U Bratad § &1 Hvam 8, 3ARC T fr ag U ue & Rig g 8, sfp s aa s snuR R fF a8
TS 3 Hrafay # &1 Har g, o Fed gl

1. Ex-officio / U&H

2. Claimant / GIAGR

3. Ex - Ante / QWJQ%
4. Stakeholder / feIUR®

Correct Answer :-

« Ex-officio / tlé‘—[

19) Who appoints the Advocate-General for the state? / I1sd & forg weTiiaa &t ﬁ'g% B BT 32

1. President / TIE"TI%T

2. Chief Minister / T&THAT
3. Parliament / §9&

4. Governor / JISIUTST
Correct Answer :-

« Governor / TSIyl

20) A test that predicts the future performance of a student in a particular area is known as: /Wﬁ&ﬂ\‘rﬁmm aﬁﬁw IEA D
yfasr & yeef= &1 Hiswramoh $ar 8, 38 39 U § ST ST 8:

1. Diagnostic test / Frfe TRieor

2. Prognostic test / q@fﬂﬁ TRI&0T

3. Achievement test / SUTTSI TRI&UT

4. Paper Pencil test / PTTST Ry wteror

Correct Answer :-

« Prognostic test / t@'f’-ﬂ?ﬁ RTeror

21) India after independence relied on food crop supplies from USA under the Public Law ./ & fafdr m%ﬁaaﬁ ¥ siaifa
AT WIS & 91¢ URd W1 Bl 3t 3myfd & forg g Isa s@fivet w Ak ami

1.450
2. 490
3. 480
4.470
Correct Answer :-
« 480

22) among the following is an example of industries which are run with the help of family members, friends and relatives. /

PraRifad & 7Y, TP ¥Q ST ST 38160 €, St URaR & e, el ok Rzaer) #t 7ag @ Tamg o 81
1. Large and Medium scale industries / a@: 3R Y TR S I

2. Capital industries / ﬁ I

3. Cottage industries / W LI

4. Regional industries / &g I

Correct Answer :-

« Cottage industries / W LI



23) The industry which produces machine tools which are, in turn, used for producing other goods for consumption purpose - / 9 IS

T IUSTUI BT I B4 &, FRIBT ITHNT & ILTT | 34 W] BT SIS $ S ¢ IuaRT fbar Siran g -
1. Fiscal goods / ST IYTT ¥y

2. Capital goods / USTTd a¥Y

3. Consumer goods / STHIET a4

4. Perishable goods / AT T¥IY

Correct Answer :-

« Capital goods / T:ﬁ"'lﬁ TJU

24) The amount of water vapor actually presents in per unit weight of air is known as: / gdT Fufa Eﬂﬂﬁ YR H IUTRIT a0 Ft 9T

Wﬁﬁ %z

1. Absolute Humidity / fARTe Sk
2. Saturated Air / HJtd drg

3. Relative Humidity / Toféres SMear
4. Specific humidity / fafR1y amear

Correct Answer :-

« Specific humidity/m T

25) The Conference held in led to the establishment of Non-Aligned Movement (NAM). / o smaifora wﬁm%mgz

e sidie (Nam) FY g T
1. Yugoslavia/ Tﬂm
2. Belgrade | TS

3. Egypt/ﬁ-l'\q

4. Bandung/ Eﬂ—qu

Correct Answer :-

« Bandung/ STgTT

26) The name of the teacher of Ajivika religious sect was: / 3reifaeT yifife m% 3T T AT UT:
1. Puran Kashyap / QX9 Y
2. Ajit Kshekamblin / 3foiid &drafer

3. Sudas / Jal¥d
4. Makkhaliputra Gosala / Iﬂ@ﬁﬂﬁ‘ RN

Correct Answer :-

« Makkhaliputra Gosala / Wﬁﬂa‘ RN

27) The method of teaching that is suitable for developing democratic attitude is: / fQI'&‘I'UT @t fafr < m Ef@aﬁ'UT fawfa Wﬁ' &
R Suga 3:

1. Brainstorming method / foaR-dy= fafd
2. Activity method / Tfafafy fafy

3. Lecture method / R fafd

4. Historical method / ﬁﬁ%l%ﬁ@ fafdr

Correct Answer :-

« Brainstorming method / JaR-HY fafdr



The evaluation that is concerned with the performance of the individual in terms of what he can do or the behavior he can demonstrate is

grmed as: / 98 Gedid Wil TR & Yei- & ey | § f% a8 1 7% a1 § a1 98 o) IagR UehRid & awdr 8, 39 e et wmen

1. Formative evaluation / ﬁﬁmw

2. Norm-referenced evaluation / TTHIRT -SHTATT T PRI
3. Summative evaluation/ WW

4. Criterion-referenced evaluation / ATFGS - el Hedih

Correct Answer :-

« Criterion-referenced evaluation / HFGS - ﬂaﬁfﬁw

29) The proponent of basic education is: / J&I ﬁT&I'I' > qude %
1. Mahatma Gandhi / HaTHT et

2. Swami Vivekananda / T—[aﬂ-ﬂ ICEEaRT

3. Jiddu Krishnamurti / forgg $eomfc
4. Rabindranath Tagore / Qﬁ:&:ﬂ"’-{ TR

Correct Answer :-

« Mahatma Gandhi / H&TET TTieht

30) Cooperative banks in India falls under the Banking Regulation Actof __ ./ HRd ¥ ggprl 9 - F ¥ fafrau siftfeam
¥ ojaid 3ma F

1.1947

2.1950

3. 1949

4.1948

Correct Answer :-
« 1949

31) Which committee recommended for the creation of the post of District Development Commissioner? / foran fawra ST ad FUCF

fermtor & o for afafa = Rref a1
1. M.L. Dantwala / TH.Td. gfddrefl

2. Ashok Mehta / 3/ Agdl

3.G VK Rao /Sf. d. . 3@

4. Hanumantha Rao / S3HT Jd

Correct Answer :-

« G VKRao/Sil. d1. &.3@

32) Which of the following is a Greenhouse Gas? / frafafea AP TP ‘Jﬁqgﬁ"\q e %?
1. Argon/ 3N

2. Oxygen/ SfffTor

3. Nitrogen / :ﬂsT;ﬁTYF‘T

4. Carbon dioxide / HTE TRANES

Correct Answer :-

« Carbon dioxide / BT Eﬁx’rﬁlﬂﬂﬁg

33) Which of the following is not included in Project method? / fFrafafeq o @ $19 noee fafy & i i %?



1. Problem type / QV'IEI\?I'J:[ GEE

2. Projector type / W CER
3. Drill type / f&@ €180

4. Inquiry type / g;[ﬁm <Ry

Correct Answer :-

« Inquiry type / W‘Imﬁ GEE

34) Which of the following is not an aim of Social Science? / FFETIEd & ¥ T ATaTRIS fagm &1 U ST A8 32
1. Developing right attitudes / gl W:ﬁf{% fawRa &

2. Intelligent democratic citizenship / glrcgl-ll"i dlpdife ARTREl

3. Building social competence / TS Wafq 1 fAmfor

4. Making a rich economy / Udh HH& e ogaRyT ST

Correct Answer :-

« Making a rich economy / Th JHK SR T

35) Which of the following is not the objective of teaching Social Science? / ﬁ‘aﬁﬂ@a & I w1 g ﬁﬁ'ﬁ 2l 'Cl'd'lﬁ' Gl G%W qﬁ %‘.’
1. Social development of the child / T HT oS fasr

2. Creation of leadership quality / ﬁaﬁ Cil I0Tal T fmfor

3. To prepare an ideal citizen / Udh e AR TR BT

4. Memorization of the events / TICT31 &1 WHRUT

Correct Answer :-

« Memorization of the events / G-I BT TRUT

36) Which of the following institutions was not founded by Mahatma Gandhi? /ﬁ'ﬂqﬁl@ﬁ AI BT Wﬂ'ﬁ HETdHT Tieh & gR
T =g fovam wram un?

1. Seva Gram / 9a1 IH
2. Phoenix Ashram / tﬁﬁﬁ STHH

3. Banaras Hindu University / §9RY E'_‘@ ﬁ&mﬁw

4. Sabarmati Ashram / TTSRHT 3THH

Correct Answer :-

« Banaras Hindu University / §RY E'_‘@ ﬁ&mﬁw

37) Which of the following was the most important reason for lowest sex ratio in the 1991 census of India? / Frafafaa o a w1991 # URG

P TV W FIQ HH RATIUTT BT TN Ag@qUf HRUT 412
1. Sex selective abortion / =T YU gl

2. Malnutrition / W

3. Son preference / §3 PIRIEC |

4. Undercounting / 3{UITUT

Correct Answer :-

« Sex selective abortion / =T YUT 5T

38) Which of the following is the most prominent problem that a teacher faces while teaching social science? / Frafafaa # 3 e19 @ e

THE U 8, 5 U g &1 qrnfore fagme ue™ & SR 3t @2
1. Balancing the different learning needs of the pupils / fqenffat @t faftra Siftrma saadm st &t Hﬂﬁﬁl HAT
2. Helping all students to get maximum marks / it B B B aH 3id U B & AeE HAl



3. Helping the students to meet long-term goals / BT &1 rdepIicid A&l bl R0 A T 0 HRAl
4. Accommodation of diversity of the students character / B & I P fafaear &1 smarg

Correct Answer :-

 Balancing the different learning needs of the pupils / faenffat @t faftrar Siftrma snaadmdrst &t ﬂﬂﬁ*lﬁ HAT

39) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / HRA-UTfpT * fea Iz ® U= Y m &1 o
goll?

1. 1999
2. 1965
3.1984
4. 1971
Correct Answer :-
. 1971

40) Which among following schemes was first implemented for the alleviation of poverty in India in the year 2015? / ﬁﬂ:ﬂﬁl@ﬂ ke

W gieT af 2015 F WRE A TS IHEA & fore @y i s e

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgIHT el ?T@'q TTET AR TRET ifeifam
2. Pradhan Mantri Gram Sadak Yojana / Y U JSh picC|

3. MUDRA scheme /@Tth\_ﬂ:ﬂ

4. Central Cooperative Scheme / W W IS

Correct Answer :-

+ MUDRA scheme / H_QTWT

41) Where is the head quarters of United Nations situated? /HEER'TTI'E W'ﬁ'@ﬁmﬂ‘f@lﬁ 2
1. San Francisco / & WhifRen!

2. Washington / d 3Teq

3. New York / =gaTd
4. California / BB

Correct Answer :-

« New York / gaTd

42) In the modern education system, the role of social science teacher is as: / Y P FRr&m yomeht &, wraTiore fagm Rrere o1 Y s
THR

1. Follower / Hﬂ'qT’fT

2. Friend / 83

3. Facilitator / 3JGRI®

4. Philosopher / m

Correct Answer :-

« Facilitator / 3‘@5@

43) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment of 500 ‘PAGODAS’. / 39 9 PT A Tard
o= fafe=r Y 500 UM & YT IR W@dd U A ATUR I $ I 81 wear-fear am

1. Bidar / éa N
2. Bijapur/m
3. Berar / SRR



4. Golconda / W
Correct Answer :-

« Golconda /7 a@' )

44) Who founded the city of Agra? / 3ITTIRT RTEX 1 RITYAT fHaA F1?
1. Humayun / ETJT{

2. Shah Jahan / QITE'TYTE;\TI

3. Akbar / 3{h&eR

4. Sikandar Lodhi / fdraR areft

Correct Answer :-

« Sikandar Lodhi / bz afelt

45) When was the First Battle of Tarain fought? / ARTZ- DT YYH Yo D d <TST AT YT?
1. 1206 A. D.

2. 1195 A. D.

3.1191 A. D.

4. 1175 A. D.

Correct Answer :-
« 1191 A.D.

46) Which of the following statements is correct regarding social science? / fFafeif@ad & ¥ 19 1 Y= rfore R_AFE &
ey F T 82

1. Social Science can be optional at school level. / g ﬁﬁﬂ oo TR ™ W Epf g dl % |
2. Social Science studies only the events of the past. / qrTfTes faRT hrat Srcdld @) ge-sf &1 31 HRdT 8|
3. Social Science is a harmonious blend of various subjects. / qraTfores fasm, fafa fawal &1 WW{UT s g

4. Social Science subject matter changes according to the ideals of the ruling party. / SIS AT fvg a¥g, IS od F ST & IR Feadl |

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / g fagm, fafira fawat &1 WTITIIWTIUT s g

47) Students re-create the teachers’ apparatus in which a paper clip tied to a string ‘moves’ over a magnet. This method
is called . | BT, FR1ew IUHU H T:JY B ¢, o T 9o & SR U fR7 A dur Y fFay avman siran 31 59 Al
£l FET AT 2|

1. Inquiry Resolution / Sra RCal)

2. Guided Inquiry / IBCIE] PELIES

3. Open Inquiry / 3 LELIES

4. Invitation to Inquiry / S & %I'Q ez

Correct Answer :-

« Guided Inquiry / e R PELIED

48) An observation which is written like a short story is known as: / B! eI B a8 ferfad v sraaied A U § ST
CIGIET

1. Conduct Register / HSPC Tﬁm\??

2. Anecdotal Record / SURSIHTH RbIS
3. Teachers Log Book / fR1&f@ @l 9P

4. Cumulative Record /Qfﬁl'?lﬁ W”ré



Correct Answer :-

« Anecdotal Record / SURATIAS Rebia

49) Who among the following was popularly known as the ‘Frontier Gandhi’? / Frafafaa 7 @ fra whfeaw midh & 9 @ SET Svdr are
1. Maulana Abul Kalam Azad / BTG ST HAH 3Tl

2. Igbal khan / SP T G

3. Abdul Ghaffar Khan / 3egd THRPR W

4. Hasrat Mohani / 89d Iﬁg'_‘ﬁ

Correct Answer :-

« Abdul Ghaffar Khan / 3{egc] THRR G

50) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social work? / 1896 o AT Ted 3R Frfore

PR TR @ & g I R @t wirET e o
1. Swami Vivekananda /! fddeTe

2. Ramakrishna Paramahansa / JHP W TRHGH
3. Swami Dayananda Saraswati / W gge IRt
4, Blavatsky and Olcott / ST 3R ehic

Correct Answer :-

« Swami Vivekananda / ST fdd® g

51) In which year was the Dutch East India company formed? / Sd '5"\‘? 3'%'01 HUI P17 fora af # far mar ure
1. 1616

2. 1620

3. 1614

4. 1602

Correct Answer :-

« 1602

52) CANCELLED
How much is adiabatic cooling rate? / R =fa 13 @mﬁﬁ? Tﬁmiﬂ') fat %?

1. 5° C/Km
2. 8° C/Km
3. 15° C/Km
4. 10° C/Km

Correct Answer :-

« 10° C/Km

53) CANCELLED

Where in the “Ninety East Ridge” submarine volcanic ridge located? “qﬁqﬁ é‘&' o ® wrRTa WWITE@ qdaguft (RTET) ﬁf@ﬁl %‘.’
1. Indian Ocean /%3 HE™NR

2. Arctic Ocean / 3T {e® TR

3. Atlantic Ocean / 3/Cdifcd He™TR

4. Pacific Ocean / URIid HERITR



Correct Answer :-

54) CANCELLED

The study of ‘Man’s ethos’ is: / "0 & TSR’ PT AT A 8T 82
1. Psychology / RIEEANI

2. Sociology / TTRATATST

3. Anthropology / Qm

4. Geology / fSraTarSTt

Correct Answer :-
« Anthropology / QW

55) CANCELLED

Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback causes you to think and engage, which is reflective
learning? /

o we1 5, IS, TP HIaAT® Ufafhar Sd #iar @ St 91 Y RIS U1 IHRIAS 8! Ghdl 2 | 9y (Fisd®) smust
T 3R oo @A A ggradl Sl §, o fa-=ia Rram g2

1. Dylan Wiliam / STI@ faferad
2. Paul Black / UTd S

3. Charles Beard / ﬂ'l?['ﬂﬁﬂ—ff

4, Miller / iR

Correct Answer :-

« Dylan Wiliam / ST@ faferad

56) CANCELLED

The primary source of data is: / 32T PT UTYHS Wa %:

1. Biographies / SHTHABUTE (‘q”riﬂwq'ﬁ)

2. Bibliographies/ i Hﬁ'&ﬂ (ﬁammuﬁ)

3. Commentaries and treatises / C1a1-feTIORIT 3R SR
4. Proclamations / ‘Enw

Correct Answer :-

« Proclamations / Yn'q'U]TQ

57) The largest contiguous cotton-growing region in the world is located in which among the following countries? / fafafeada feadxr

# fary &1 W goT AT FU™ SwTew 8 R #2
1. China / =4

2. United States / Jgard I ARSI

3. India / HRd

4. Pakistan / OTfa =

Correct Answer :-

« United States / S 3T 3ARDT

58) The only two landlocked countries of South American continent are____ / E'mWT aﬁhﬁ%@q%%ﬁaaﬁw-ww _%'I
1. Surinam and Guyana / g\ﬂ:ﬁq IR RCIEl

2. Columbia and Paraguay / CAGIERIEIR R RS

3. Bolivia and Paraguay / Scifaar 3R TR



4. Ecuador and Parana / 3@77@? 3R ORI

Correct Answer :-

« Bolivia and Paraguay / Scifaar 3R R

59) Which among the following is the lowest level of a body of water such as an ocean or a lake? / Frafafea @ ®nugRTR @ Sﬁﬁ SRt
S P §HTS BT HaH Faen ®R 32

1. Demersal / SHIA
2. Neritic / ARfeH
3. Benthic / SfI&
4. Pelagic / PRISED

Correct Answer :-

« Benthic / 9fR&

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating Gandhiji’s candidate Pattabhi Sitaramaiyya? /

Tiefioht ¥ Suftgar uzTfy WHardar #t g 1939 F AgH 7 & w19 v & e gafafie frg mee
1. Dr. Rajendra Prasad / 1. J19i% UTG

2. B.J.B Kriplani / & 9.8, U@

3. Subhash Chandra Bose / GHTY T% S

4. Nellie Sengupta / ﬁ?ﬁm

Correct Answer :-

« Subhash Chandra Bose / gHIY Tg EIS|



